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BOD5 as5ls ()
il iy p)S oo 00 b+ 5 BODS Jlais 51 @
BOD5 1= 101.36 * (2.718 * (-0.106 * BOD5))
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Fecal Coliform I=(-10 * (Math. Log (Fecal Coliform)) + 111.11)

0L MPN/10OmI V-7 5) oY (s egdoe p,adS jlaie ST @
Fecal Coliform I=(-3.654 * (Math. Log (Fecal Coliform))+ 51.188)
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COD a5ls (¥
il ) oS e Yoo b 5 COD Juie 51 @
COD I=98.996 * (2.718 * (-0.027 * COD))
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Dissolved O I=(((-8 * 10~ -6) * Dissolved O " 3)+(0.0169 * Dissolved O"2)-(1.0778 * Dissolved O)
+50.376)

sl gLl aoyo VFe BV Jolone 5anST jlaie ST @
Dissolved O _I=((0.0098 * Dissolved O " 2) - (2.701 * Dissolved O) + 272.53)
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EC I=(-22.61 * (Math.Log(EC)) + 213.05)
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Ol s sl (7
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NO3_I=((-17.161 * (NO3)) + 94.679)
bl d ey Lo Ve B Y o ol Jlase ST @
NO3_I1=((-0.0051 * (NO3 * 3)) + (0.3302 * (NO3 " 2)) - (6.876 * NO3) + 48.108)
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NH4 I=83.743 * (2.718 ~ (-0.993 * NH4))

Sl i )5 ke VOB s piisel

NH4 I=38.119 * (2.718 » (-0.219 * NH4))
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PO4 1= (-18.32 * (Math.Log(PO4)) + 20.738)
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PO4 1=20.241* (2.718 » (-0.328 * PO4))
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Turbidity I=(-12.75 * (Math. Log (Turbidity)) + 94.458)
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Turbidity I=(-9.599 * (Math. Log (Turbidity)) + 68.598)
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Total Hardness 1=((2 * 10 ~-12 * (Total Hardness " 4)) - ((2 * 10 ~ -8) * Total Hardness " 3) + (9 * 10
~ -5 * (Total Hardness " 2) - (0.1595 * Total Hardness) + 111.12))

Dgds g0 ai8)S L

pH asls (1)
203l VIO b 10 e pH Jlaio 51 @

pH 1= ((24.496 * (pH)) - 122.03)

il A B VIO o pH Jlaie 51 @
pH 1= ((79.442 * (pH)) - 538.9)

a3 A B A o pH Jlaie 51 @
pH_I = ((-95.431 * (pH)) + 865.56)

L MO B A e pH Jaie 51 @
pH 1= ((-25.417 * (pH)) + 273.34)
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Fecal coliform = 1600 MPN/100ml

Nitrate = 3.2 mg./I

Electrical Conductivity = 341 micro-mohs/cm
DO = 9.1 mg/l— DOsat = 96.8%

BODs=1 mg/I

COD =2mg/l

Ammonium = -

Phosphate = 0.4 mg/I

Total Hardness = -

pH = 8.16
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y = W; =0.14 + 0.117 + 0.108 + 0.097 + 0.096 + 0.093 + 0.087 + 0.059 = 0.797

i=1
n
1
rRwQlse = | |17
i=1

— [270.14 X 950.117 X 390.108 X 960.09'}' x 880.096 X 990.093 X 400.087

1
x 87005910797 = 60.8
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BOD5 a5ls ()
il 2 oS LBl 5 BODS ke 51 @
BOD5 I=(1.214 * BODS5  3) - (7.7877 * BOD5 / 2) - (4.3593 * BODS5) + 96.371
il 5 e oo Ve 50 05 BODS Jlais 51 @
BOD5 1= (-0.0041 * BODS5 * 3) +(0.2702 * BODS5 * 2) - (6.2135 * BODS5) + 54.161
il 5 oS Lo 0 Y 5 BODS Jluis 51
BOD5_I=(-0.0003 * BOD5 * 3) + (0.035 * BOD5 * 2) - (1.2911 * BODS) + 20.061

P pyls @l (Y

5L MPN/100MI ) b5 1)y e 5do pyielS e 51 @

Fecal Coliform I=((-3.733 * Math. Log (Fecal Coliform)) + 90.513)
sl MPN/10OMI Y+ 5 ) oy sdoe p,20lS Jlaie 1 @

Fecal Coliform I=((-24.47 * Math. Log (Fecal Coliform)) + 93.097)
0L MPN/1OOmI Y+ + BV 0 e5dae pradS Jlade 51 @

Fecal Coliform I = ((-7.514 * Math. Log (Fecal Coliform) + 58.835))

2056 MPN/IOOMIL VS« B Y e vy egdie a5 jlada ST @

Fecal Coliform I=((-8.417 * Math. Log (Fecal Coliform) + 64.033))
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COD psls (¥
il iy p)S o Yo b 5 COD Jlais 51 @
COD _1=(0.0179 * COD * 3) - (0.458 * COD * 2) - (2.0857 * COD) + 98.955
il 2 o) o Ver BY 5 COD Jlais 51
COD _I=((-0.00007) * COD ~ 3) + (0.0167 * COD * 2) - (1.2655 * COD) + 35.315

(DO) Jokomo (oS! 25Ls (F
sl gladl 0o s B0 B0 Cpe Jsbome (5emST lie 51 @
Dissolved O 1=(0.0081 * Dissolved O " 2) + (0.5344 * Dissolved O) - 2.2896
ol gledl aoys Ve s B0+ ey Jsle (y5emnS] Jloie 51 @
Dissolved_O_I=(-0.0126 * Dissolved_O " 2) + (3.0579 * Dissolved_O) - 79.083
il glesl ao s VW BV e e o Jslre (y5enST laie 51 @
Dissolved O 1=-14.32 * Math. Log (Dissolved O) + 166.02
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EC 1=100
18b e (o p ugegSee B0 BN0: o (S0l Zolas lade ST @
EC 1= (-0.0272 * EC) + 104.32
1l e (Hlo 2 (egeg S Fror e BO0 e (oo (o pSUl Colaa Jlade ST @
EC 1= (177547 * EC ~ (-1.181))
18b yo (o p ogegSea ADe - B ¥ e (o (S i8Il Colaa Jlade ST @
EC_I=((0.00000009 * EC ~ 2) - (0.0031 * EC) + 20.863)

5 o 205 L

Ol s sl (P
il il o e Ve b e G S e ST e
NO3 1=(-0.0925 * NO3 ~ 3) +(1.8308 * NO3 " 2) - (13.723 * NO3) + 97.231
il d g psS e VYr BV Sl ke ST @

NO3_I=((-0.0051 * (NO3 * 3)) + (0.3302 * (NO3_I = (73.349) * 2.718 ~ (-0.04]1 * NO3) NO3 * 2)) -
(6.876 * NO3) + 48.108)
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SAR _I=(-3.8043 * SAR " 4) + (25.306 * SAR * 3) - (47.481 * SAR # 2) - (10.04 * SAR) + 99.045
3L VY B Y 50 SAR Jaie ST @
SAR I=(-0.0455 * SAR * 3) + (1.3036 * SAR / 2) - (12.806 * SAR) + 44.9

09 (o a3y a0 0\l () (el ke il 2 e S (Lo VY ) i SAR i ST e

Olid asls (A
XV RCTN SRR SN TONRYIS &) FIRY DL ENURCH FIVE S RVINC
PO4 1=((-9.973 * Math. Log (PO4)) + 54.049)
XV RCT SRR S TORRYIL I FIRYES SRNURCHFIVE S RVINC S
PO4 I=((-67.31 * Math. Log (PO4)) - 171.65)
il 2 g p,S e S L/ F o lind e 51 @
PO4 1=-1040.6 * PO4 ~ 3 +944.25 * PO4 ~ 2 - 301.31 * PO4 + 53.655
2l 2 8 Lo 8 b /¥ o Sl Jlaie 1 @
PO4 1=20.158 * 2,718 ~ (-0.395 * PO4)
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Total Hardness 1= 100
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Total Hardness I = (-0.000007 * Total Hardness ~ 3) + (0.0024 * Total Hardness " 2) - (0.2729 *
Total Hardness) + 101.16

il iy oS )y 5 (e Do BT e IS e ke 51 @
Total Hardness I=(0.0004 * Total Hardness * 2) - (0.5165 * Total Hardness) + 175.3

3l Sl edS ) a8 e VE e GO0 G IS (e Jlaie ST @
Total Hardness I = (200000000 * Total Hardness " -2.614)
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pH 5Ly (V-

5L VIE G810 e pH Jaie 51 @
pH_I=((24.858 * pH " 2) - (292.69 * pH) + 902.89)

2a5L U0 b V/E o pH Jaie 51 @
pH_I=((-36.863 * pH ~ 3) + (944.69 * pH " 2) - (8066.9 * pH) + 23004)
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Groundwater COD Index
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Groundwater pH Index

Groundwater Total Hardness Index
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Nitrate = 0.171 mg/I
Fecal coliform = 150 MPN/100ml
Electrical Conductivity = 639.7 micro-mohs/cm
Total Hardness = 225 mgCaCOa3/I
BODs=4.11 mg/I
Phosphate = 0.16 mg/I
COD =2 mg/l
pH =7.38
DO =4.12 mg/l— DOsat = 43.77%
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mn
y = Z W; =0.151 + 0.134 + 0.129 + 0.103 + 0.088 + 0.085 + 0.080 + 0.074

=1

+0.067 = 0.911

n

.1

IRWQlgc = [| | 1"y
i=

=1 [99().151 X 220.134— X 870.129 X 880.103 X 330.088 X 26().085 X 980.080
1

X 1000974 x 350067]531T = 56.5
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